Manuals+ — User Manuals Simplified.

ANTEQ

NEATFRAME-
WM Neat Frame
Wall Mount

AVTEQ NEATFRAME-WM Neat Frame Wall Mount Installation
Guide

A

Home » AVTEQ » AVTEQ NEATFRAME-WM Neat Frame Wall Mount Installation Guide *:

Contents

1 AVTEQ NEATFRAME-WM Neat Frame Wall

Mount

2 Product Information

3 Product Usage Instructions

4 FAQ

5 PACKAGE CONTENTS

6 Installation Instruction

7 Contact

8 Documents / Resources
8.1 References

9 Related Posts

AVTEQ

AVTEQ NEATFRAME-WM Neat Frame Wall Mount


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/avteq
https://manuals.plus/avteq/neatframe-wm-neat-frame-wall-mount-manual.pdf
https://manuals.plus/#avteq_neatframe-wm_neat_frame_wall_mount
https://manuals.plus/#product_information
https://manuals.plus/#product_usage_instructions
https://manuals.plus/#faq
https://manuals.plus/#package_contents
https://manuals.plus/#installation_instruction
https://manuals.plus/#contact
https://manuals.plus/#documents_resources
https://manuals.plus/#references
https://manuals.plus/#related_posts

Product Information

Product Name: Neat Frame Wall Mount (NEATFRAME-WM)

« Package Contents:
o A. Wall mount [x1]
o B. Anchor screw [x3] (Only for drywall)
o C. #8 1 1/2 wood screw [x3] (For wood or metal studs)
o D. 1/4-20 3/4 screw [x1]

Product Usage Instructions
Step 1: Secure wall mount to the wall
NOTE: The cutout for the wall needs to be 8.5 wide and 3.8 tall.

NOTE: To secure on drywall, use the anchor screws (B). To secure on wood or metal studs, use the wood screws
(C).

1. Insert screws inside the mount.
2. For flat installation: place screws at the bottom.
3. For tilt installation: place screws at the top.



FAQ

« Q: How do | contact support for Neat Frame Wall Mount?
o A: You can contact us at support@avteginc.com for any questions or assistance regarding the product.

PACKAGE CONTENTS

Included with Neat Frame Wall Mount (NEATFRAME-WM):

27
_;[ : |
(Only for dry wall) (Only for wood
or metal studs)

« A. Wall mount [x1]

« B. Anchor screw [x3] *For drywall

o C.#8 1 1/2” wood screw [x3] *For wood or metal studs
o D. 1/4-20 3/4” screw [x1]

Installation Instruction

STEP 1

Secure wall mount to wall

NOTE: The cutout for the wall needs to be 8.5” wide and 3.8 tall.

NOTE: To secure on dry wall, use the anchor screws (B). To secure on wood or metal studs, use the wood screws
(C).

« Place the wall mount (A) in the wall. Secure the wall mount using [x3] anchor screws (B) or wood screws (C),
depending on the wall material. For a flat installation of the Neat Frame device, insert screws into the bottom
three inner holes of the wall mount. For a slight tilt, insert screws into the top three inner holes of the wall

mount.


mailto:support@avteqinc.com

— e
! — l g;;} }
| o - }
(=] o o [ ®
| (& — (®)
I (@ (o)
,f | ® 0 0
=]
in.(/ ] \é - -
(Insert screws (Flat installation: bottom screw placement) (Tilt installation: top screw placement)

inside the mount)

STEP 2
Secure Neat Frame device to wall mount

« Secure the Neat Frame device to the base of the wall mount (A) using a [x1] 1/4-20 3/4” screw (D). Screw

through the bottom of the wall mount (A).

(Meat Frame flat) (Neat Frame tilted)

|Screw placement)

Contact

« Have a question?

Contact us at support@avteqinc.com
« avteqinc.com

Documents / Resources

AVTEQ

Install Guide

" | AVTEQ NEATFRAME-WM Neat Frame Wall Mount [pdf] Installation Guide

NEATFRAME-WM, NEATFRAME-WM Neat Frame Wall Mount, Neat Frame Wall Mount, Frame
Wall Mount, Wall Mount, Mount

References


mailto:support@avteqinc.com
http://avteqinc.com
https://manuals.plus/m/761c8f209f8097010a6da408301dba93c4b670653fec0f050b8969b978e20752
https://manuals.plus/m/761c8f209f8097010a6da408301dba93c4b670653fec0f050b8969b978e20752_optim.pdf

« @ AVTEQ | Collaborative AV Furniture Designed for Today's Technolo

» User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


http://avteqinc.com
https://manual.tools/?p=14551999#MTA0LjI4LjIzNC4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	AVTEQ NEATFRAME-WM Neat Frame Wall Mount Installation Guide
	AVTEQ NEATFRAME-WM Neat Frame Wall Mount
	Product Information
	Product Usage Instructions
	FAQ
	PACKAGE CONTENTS
	Installation Instruction
	Contact
	Documents / Resources
	References



